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1.1: Consumer Behaviour Analysis   Unit 1: Consumer Behaviour Analysis  

2021 
 
 

Question 1 9708/43/O/N/21/Q3 
(a)  Explain the theory of how a consumer decides to achieve the situation described as 

‘equilibrium’ when purchasing two different products.  [12] 
(b)  Two shops sell clothes. One has luxury fashionable designs. The other has cheaper 

inferior alternatives. Both shops decided to have promotional sales with price reductions. 
 Consider how indifference curve analysis could be used to explain a consumer’s reaction 

to both the price reductions.  [13] 
MARK SCHEME 

(a) Marginal utility is significant in relating the utility/satisfaction to the price in determining equilibrium 
quantity bought. Candidates can use either MU theory or marginal changes on indifference curves 
related to budget lines. If MU is used, they must relate it to two products. 
L4 (9–12 marks): for a clear explanation and a sound comment on the relation between the price and 
the satisfaction obtained, referring to more than one good. 
L3 (7–8 marks): for a less developed answer but which still refers to the equilibrium but probably 
concentrates on only one good with MU or is unclear about the relevance of the tangency with 
indifference curves. 
L2 (5–6 marks): for a brief attempt which does not clearly bring out the significance of the marginal 
analysis. 
L1 (1–4 marks): for an answer that has some basic correct facts but includes irrelevancies and errors 
of theory. 
(b) Analysis and comment on income and substitution effects using indifference curves of a price 
change for a luxury good and an inferior good. 
L4 (9–13 marks): for an understanding of the meaning of the two concepts and a correct analysis of 
the direction of change for both concepts for both types of good. 
L3 (7–8 marks): for a less accurate understanding – probably evidenced by a weak analysis of the 
income effect on inferior goods, or a confusion with a Giffen good. 
L2 (5–6 marks): for an unclear answer which distinguishes between the effects but gets the direction 
of change incorrect; or one that concentrates on one type of good. 
L1 (1–4 marks): for an answer that has some basic correct facts but includes irrelevancies and errors 
of theory. 
 

Question 2 9708/42/O/N/21/Q3 
(a)  Use marginal utility analysis to explain the derivation of the individual demand curve for a 

good.  [12] 
(b)  Use indifference curve analysis to discuss whether the demand curve for a good will 

always slope downwards.  [13] 
MARK SCHEME 

(a)  Marginal utility analysis: 
Explanation of total utility (TU) and marginal utility (MU) and falling MU. Link to ratio of MUx to Px. 
Principle of equi-marginal equality explained. MUx/Px = MUy/Py 
Development of the effect of a change in Px on MUx and thus demand by an individual. Conversion to 
an individual’s demand curve and then a market demand curve. 
L4 (9–12 marks): For an answer that gives a sound explanation of the change in equilibrium when 
the price of one good changes in relation to the price of another good. The equi-marginal principle is 
used to analyse this effect. Extension of individual demand to market demand curve. Max 9 For 
individual demand curve with no reference to the market. 
L3 (7–8 marks): For an answer that develops the analysis to the equimarginal principle in relation to 
two goods and then attempts to determine an individual demand curve. 
L2 (5–6 marks): For an answer that explains total and marginal utility and its link to the purchase of 
one good. 
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L1 (1–4 marks): For an answer that has some basic correct facts but includes irrelevancies. Errors of 
theory or omissions of analysis will be substantial. 
(b) Indifference curves, budget lines defined, the effect of shifts in the price and the budget line. Split 
of change in quantity demanded into income effect (IE) and substitution effect (SE). Impact of the size 
and sign of such changes on the slope of demand curve. 
L4 (9–13 marks): For an answer that discusses the influences of the size and the sign of the IE and 
SE on the effect on demand of a change in the price of a good and recognises this may produce an 
upwards sloping demand curve. A conclusion is reached for 12/13 marks. 
L3 (7–8 marks): For an answer that analyses the effect of a change of price on the demand for a 
good and includes reference to IE/SE. 
L2 (5–6 marks): For an answer that describes budget lines and indifference curves and identifies the 
equilibrium position. 
L1 (1–4 marks): For an answer that has some basic correct facts but includes irrelevancies. Errors of 
theory or omissions of analysis will be substantial. 
 
 
 
 
 

Question 3 9708/42/M/J/21/Q3a 
Use indifference curve analysis to explain how an individual’s demand curve for an inferior 
good is derived.        [12] 

MARK SCHEME 
Definitions and explanations of Indifference curves (IC) and budget line (BL). The use of tangency of 

IC to BL to determine demand. The shift of the BL to reflect price change. The connection of 
changes in price to the shape of the demand curve, or candidates may suggest a change in 
income and the budget line shift causing a shift in the demand curve for an inferior good. 

L4 (9–12 marks) For an answer which explains the meaning of indifference curves and budget line. 
The analysis of the effect of a change in price shifting the BL and the effect on demand. The 
derivation of the demand curve is explicit using reference to the income and substitution effects, 
or a shift of the demand curve for a change in income. 

L3 (7–8 marks) For an answer which explains the meaning of indifference curves and budget line. 
The analysis of the effect of a change in price shifting the BL or a shift in the BL. 

L2 (5–6 marks) For an answer which explains the meaning of indifference curves and budget line. 
L1 (1–4 marks) For an answer which has some basic correct facts but includes irrelevancies. Errors 

of theory or omissions of analysis will be substantial. 
 

Question 4     9708/43/M/J/21/Q3 
(a) Explain what is meant by the concept of the ‘equilibrium position of a consumer’ and how 

the concept might be used to construct a demand curve for a good.        [12] 
(b) Distinguish between the income and substitution effects of a change in a good’s price and 

analyse why the effect of a change in price is not always the same for different goods.  [13] 
MARK SCHEME 

(a) Explanation of consumer equilibrium using either marginal utility or indifference curves. The 
equilibrium must be related to a point on the demand curve and then there should be an 
explanation of how other points on the demand curve might be caused. 

L4 (9–12 marks) For a sound explanation of the analysis and a clear link to the demand curve caused 
by either changes in price or changes in marginal utility. With accurate diagrams and a clear 
understanding of the principles involved. 

L3 (7–8 marks) For an accurate reference to the question but with a more limited explanation 
showing the effect of a change in price with the budget line but not linked to a demand curve, 

L2 (5–6 marks) For a briefer explanation of the analysis and equilibrium position but with no link to 
the demand curve; or with inaccurate diagrams and weak explanation. 

L1 (1–4 marks) For an answer that has some basic correct facts but includes irrelevancies and errors 
of theory. 

(b) A price fall is reflected in a change in the budget line (pivot from point on axis of the good with no 
price change) with a subsequent change in equilibrium. The equilibrium change involves 
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substitution and income effects. Substitution effect would be in the opposite direction to the price 
change. The income effect is represented by a parallel shift of the budget line is in the same 
direction as the substitution effect for the normal good but in the opposite direction for an inferior 
and Giffen good. Demand will increase for a normal good, but the extent will depend on elasticity, 
it will increase for an inferior good but not as much as for a normal good. For a Giffen good the 
final demand is less than the original demand. 

L4 (9–13 marks) For a reasoned and clear discussion, logically presented dealing with income, 
substitution effects and at least two different types of good, (normal, inferior, Giffen). 

L3 (7–8 marks) For a fair but undeveloped discussion probably concentrating on income, substitution. 
Mention might be made of different elasticities of a normal good or of the difference between 
normal goods and inferior/Giffen. There would be only a brief comment on the individual demand 
curve or no discussion about the demand curve. 

L2 (5–6 marks) For a limited explanation with a lack of development of both income/substitution and 
different types of good. 

L1 (1–4 marks) For an answer that has some basic correct facts but includes irrelevancies and errors 
of theory. 

 

2020 
 

Question 1     9708/43/O/N/20/Q3 
(a) Examine the analysis behind the downward sloping demand curve for a normal good.   [12] 
(b) Use indifference curve analysis to discuss why a manufacturer might be interested in a 

consumer's reaction to an equal rise in price for a normal good and a Giffen good.       [13] 
MARK SCHEME 

(a) Explanation of consumer equilibrium, its link to price changes and the construction of the demand 
curve. Either marginal utility or indifference curves may be used. Both determine the maximum 
satisfaction for a consumer. One relates the equilibrium directly to a point on the demand curve, 
the other does not. 

L4 (9–12 marks) for a sound explanation of the analysis and a clear comment on how a demand 
curve is formed as price changes affect equilibrium. A clear understanding of the principles 
involved. 

L3 (7–8 marks) for an accurate reference to the question but with a more limited development 
probably without a good explanation of the construction of a demand curve. The answer will 
probably just refer to one point on the demand curve and not deal with price changes. 

L2 (5–6 marks) for a briefer explanation of the analysis and equilibrium position but with no clear link 
to the demand curve. 

L1 (1–4 marks) for an answer that has some basic correct facts but includes irrelevancies and errors 
of theory. 

(b) Discussion of effect on demand of a rise in price for normal, inferior, Giffen goods and for goods 
with different elasticities. The manufacturer would be interested in the effect on revenue of any 
change in price and the effect would depend on the type of good. 

L4 (9–13 marks) for a clear analysis of price, income, substitution and an evaluation of different 
goods and link to revenue. Diagrams should be accurate. 

L3 (7–8 marks) for a less precise analysis with minor errors in the diagrams and with a less 
competent link to revenue. 

L2 (5–6 marks) for an answer that confuses income and substitution or does not comment on the 
revenue aspect. 

L1 (1–4 marks) for an answer that has some basic correct facts but includes irrelevancies and errors 
of theory. 
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Question 2     9708/41/O/N/20/Q3 
(a) Compare and contrast the derivation of a consumer’s demand curve using Marshall’s 

marginal utility analysis with a consumer’s demand curve derived by indifference curves. 
 [12] 

(b) Discuss how the effect of a rise in a sales tax (goods and services tax) can be analysed 
using indifference curve analysis.        [13] 

MARK SCHEME 
(a) Marshall’s utility requires a precise calculation of marginal utility, and by relating MU to price, has 

a direct link to the construction of a demand curve. 
Indifference curve theory shows different quantities of two goods bought as either income or price 

changes; changes in amounts bought can be split into income and substitution effects and 
different types of goods more readily distinguished than with Marshall’s theory. However there is 
no direct link to a complete demand curve which shows demand against price. The analysis does 
not require an absolute ‘cardinal’ measurement of utility in ‘utils’ but it still requires a 
measurement satisfaction which in reality is unrealistic. 

L4 (9–12 marks) for a sound explanation of the analysis and a clear understanding of the principles 
involved with an accurate comment on the differences between the two approaches in the link to 
demand curves. 

L3 (7–8 marks) for an accurate reference to the question but with a more limited evaluation or with 
minor errors in the analysis. 

L2 (5–6 marks) for a briefer explanation of the analysis and a more one-sided comment on the 
differences. 

L1 (1–4 marks) for an answer that has some basic correct facts but includes irrelevancies and errors 
of theory. 

(b) Rise is sales tax changes price, represented by a pivot of the budget line. This will change 
demand via income and substitution effects. 

L4 (9–13 marks) for a sound explanation of the analysis and a clear understanding of the principles 
involved. A pivot of the budget line, a link to demand, and a comment on the extent of the change 
in demand, mentioning elasticity. 

L3 (7–8 marks) for an accurate reference to the question but with a more limited evaluation or with 
minor errors in the analysis. 

L2 (5–6 marks) for a briefer explanation of the analysis of the indifference curve diagram but with no 
reference to a demand curve or to elasticity. 

L1 (1–4 marks) for an answer that has some basic correct facts but includes irrelevancies and errors 
of theory. 

 

Question 3     9708/43/M/J/20/Q3 
(a) Explain what is meant by a ‘consumer’s equilibrium position’ in indifference curve theory 

and how it can be used to form a demand curve.        [12] 
One of the world’s first filmed singing commercials advertised a soft drink. It stated that, for 

the same price, consumers would get twice as much of that drink than that of its major 
rival. This made it cheaper and was similar to a price reduction. Its rival responded by an 
advertising campaign stating that its own drink was superior to the first firm’s inferior 
product. 

(b) Discuss whether it is possible to use diagrams from indifference curve theory to illustrate 
how a consumer might react to these two advertising campaigns.        [13] 

MARK SCHEME 
(a) Explanation of consumer equilibrium using indifference curves. Equilibrium position should be 

determined initially, then for a change in price. 
L4 (9–12 marks): For a sound explanation of the analysis and a clear comment on how a demand 

curve is formed. A clear understanding of the principles involved. 
L3 (7–8 marks): For an accurate reference to the question but with a more limited analysis probably 

without a good explanation of the construction of a demand curve. 
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L2 (5–6 marks): For a briefer explanation of the analysis and equilibrium position but with no link to 
the demand curve. 

L1 (1–4 marks): For an answer that has some basic correct facts but includes irrelevancies and 
errors of theory. 

(b) Analysis of income and substitution effects. The first drink could possibly be represented by a shift 
in the budget line for a price reduction. The consumer might substitute it for the rival drink. But the 
notion of a more superior drink might result in a negative income effect. 

L4 (9–13 marks): For a clear analysis of income and substitution effects and a reasoned account of 
the changes in consumer equilibrium using both effects. Accurate diagrams. 

L3 (7–8 marks): For a weaker analysis of the two effects or diagrams which contain slight 
inaccuracies. 

L2 (5–6 marks): For a poor analysis and weak diagrams confusingly presented. 
L1 (1–4 marks): For an answer that has some basic correct facts but includes irrelevancies and 

errors of theory. 
 

Question 4     9708/42/M/J/20/Q2 
(a) Use indifference curve analysis to explain the derivation of an individual demand curve for 

a normal good.        [12] 
(b) Discuss, using indifference curve analysis, whether the demand for a good always 

increases when its price falls.        [13] 
MARK SCHEME 

(a) Income and substitution effects need to be explained and applied in the context of a falling price. 
The three alternatives: i) YE & SE are both positive and reinforce each other, ii) YE is negative & 
SE is positive but more than YE and iii) YE is negative but greater than SE are. 

L4 (9–13 marks): For an answer which concentrates on either the fall in income, and impact on 
demand or the fall in price showing the movement of the BL and the impact on the quantity 
demanded. Discussion of the significance of the income effect and the substitution effects. 
Accurate diagrams. Max 11 if no conclusion. 

L3 (7–8 marks): For an answer which concentrates on either the fall in income, and impact on 
demand and the fall in price showing the movement of the BL and the impact on the quantity 
demanded. 

L2 (5–6 marks): For an answer which concentrates on either the fall in income, and impact on 
demand or the fall in price showing the movement of the BL and the impact on the quantity 
demanded. 

L1 (1–4 marks): For an answer which has some basic correct facts but includes irrelevancies. Errors 
of theory or omissions of analysis will be substantial.  

(b) Definitions of fixed and variable costs and long and short run. Need to cover variable cost in the 
short run, shut down if variable costs not covered in short run. Need to cover both fixed and 
variable cost (total costs) in the long run. 

L4 (9–12 marks): For a thorough explanation of fixed and variable costs linked to both the short and 
long run, clear identification that all costs are variable in the long run, together with explanations 
of their relevance to the survival of a perfectly competitive firm. 

L3 (7–8 marks): For an answer which concentrates on either the short run and the long run or 
variable and fixed costs with reference to profits. 

L2 (5–6 marks): For limited correct comments on types of costs. 
L1 (1–4 marks): For an answer which has some basic correct facts but includes irrelevancies. Errors 

of theory or omissions of analysis will be substantial. 
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Question 5     9708/42/M/J/20/Q3 
(a) Explain what is meant by a ‘consumer’s equilibrium position’ in indifference curve theory 

and how it can be used to form a demand curve.        [12] 
One of the world’s first filmed singing commercials advertised a soft drink. It stated that, for 

the same price, consumers would get twice as much of that drink than that of its major 
rival. This made it cheaper and was similar to a price reduction. Its rival responded by an 
advertising campaign stating that its own drink was superior to the first firm’s inferior 
product. 

(b) Discuss whether it is possible to use diagrams from indifference curve theory to illustrate 
how a consumer might react to these two advertising campaigns.       [13] 

MARK SCHEME 
(a) Explanation of consumer equilibrium using indifference curves. Equilibrium position should be 

determined initially, then for a change in price. 
L4 (9–12 marks): For a sound explanation of the analysis and a clear comment on how a demand 

curve is formed. A clear understanding of the principles involved. 
L3 (7–8 marks): For an accurate reference to the question but with a more limited analysis probably 

without a good explanation of the construction of a demand curve. 
L2 (5–6 marks): For a briefer explanation of the analysis and equilibrium position but with no link to 

the demand curve. 
L1 (1–4 marks): For an answer that has some basic correct facts but includes irrelevancies and 

errors of theory. 
(b) Analysis of income and substitution effects. The first drink could possibly be represented by a shift 

in the budget line for a price reduction. The consumer might substitute it for the rival drink. But the 
notion of a more superior drink might result in a negative income effect. 

L4 (9–13 marks): For a clear analysis of income and substitution effects and a reasoned account of 
the changes in consumer equilibrium using both effects. Accurate diagrams. 

L3 (7–8 marks): For a weaker analysis of the two effects or diagrams which contain slight 
inaccuracies. 

L2 (5–6 marks): For a poor analysis and weak diagrams confusingly presented. 
L1 (1–4 marks): For an answer that has some basic correct facts but includes irrelevancies and 

errors of theory. 
 
Question 6     9708/42/F/M/20/Q3 
(a) Explain the link between a consumer’s rational behaviour, marginal utility, prices of 

different goods and the demand for a good.       [12] 
(b) To what extent may the demand theory based on indifference curves be considered 

superior to that derived from marginal utility?       [13] 
MARK SCHEME 

(a) Explanation of idea that a rational consumer aims to maximise utility; this involves a comparison 
of marginal utility with prices which determines the amount demanded 

L4 (9–12 marks): for a reasoned and clear explanation, logically presented dealing with each point 
and an accurate link to the demand curve as prices change 

L3 (7–8 marks): for a fair but undeveloped explanation probably concentrating on the equilibrium 
condition but not fully linking the idea to the demand curve or dealing with only one point on the 
demand curve ignoring price changes 

L2 (5–6 marks): for a briefer explanation, probably not fully explaining the equilibrium when there is 
more than one good and with no link to the demand curve 

L1 (1–4 marks): for an answer that has some basic correct facts but includes irrelevancies and errors 
of theory 

(b) Indifference curve theory shows the quantities of two goods bought as either income or price 
changes; changes in amounts bought can be split into income and substitution effects and 
different types of goods more readily distinguished 
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The analysis does not require an absolute measurement of utility in ‘utils’ only a recognition that 
‘higher’ curves indicate more satisfaction. It still requires some identification of satisfaction to 
construct the precise level of the curve which in reality is unrealistic The indifference curve 
diagram also has no direct representation of demand against price 

L4 (9–13 marks): for a sound explanation of the analysis and a clear understanding of the principles. 
A consideration of both the possible advantages and disadvantages of using indifference analysis 
should be presented 

L3 (7–8 marks): for an accurate reference to the question but with a more limited evaluation or with 
minor errors in the analysis 

L2 (5–6 marks): for a briefer explanation of the analysis and a more onesided comment on the 
differences 

L1 (1–4 marks): for an answer that has some basic correct facts but includes irrelevancies and errors 
of theory 

 

2019 
 

Question 1     9708/43/O/N/19/Q3 
(a) Critically discuss the explanation in economic theory of how a rational consumer 

exercises choice and how it links to a demand curve.        [12] 
(b) Analyse how a consumer’s equilibrium might change if the government increased a sales 

tax (goods and services tax) on a normal good, an inferior good and a Giffen good.        [13] 
MARK SCHEME 

(a) Explanation of diminishing marginal utility or indifference curves and the link to equilibrium price 
and, through changes in price, to the demand curve; critical comment on the difficulty of 
calculating marginal utility and its application. 

L4 (9–12 marks): For a sound explanation of the analysis and a clear understanding; explanation of 
link to demand; with a comment on the possibility of calculating marginal utility. 

L3 (7–8 marks): For a competent comment but with limited development of the analysis – may be no 
clear link to demand – and a very brief critical comment. L2 (5–6 marks): For a brief explanation 
and with no clear link between equilibrium and demand and no critical comment. 

L1 (1–4 marks): For an answer that has some basic correct facts but includes irrelevancies and 
errors of theory. 

Analyse how a consumer’s equilibrium might change if the government increased a sales tax 
(goods and services tax) on a normal good, an inferior good and a Giffen good. 

(b) Explanation of changes in consumer equilibrium using indifference analysis to distinguish 
between the types of good. Indirect tax will increase the price and the answer really needs to 
consider the distinction between income and substitution effects. 

L4 (9–13 marks): For a clear analytical discussion of effect of an indirect tax increase is to increase 
price; income and substitution effect move in same direction for normal good, in opposite 
directions for inferior good but a price rise would still result in a fall in demand; they move in 
opposite direction for a Giffen good but a rise in price will lead to a rise in demand. 

L3 (7–8 marks): For an understanding of a rise in tax causing a rise in price but a clear 
analysis/discussion of the effect on only two of the goods. 

L2 (5–6 marks): For a weaker understanding of the effect of the tax change and a poor analysis of 
the income and substitution effects, maybe just concentrating on the utility explanation or 
elasticity. 

L1 (1–4 marks): For an answer that shows some knowledge but does not indicate that the question 
has been fully grasped or where the answer is mostly irrelevant. 

 
  

SAEED AFZAL  12



 

1.1: Consumer Behaviour Analysis   Unit 1: Consumer Behaviour Analysis  

Question 2     9708/42/O/N/19/Q3 
(a) Explain what is meant by a normal good and comment on the link between total utility, 

marginal utility and a consumer’s demand curve for that good.        [12] 
(b) Discuss how a government’s policies toward income and wealth distribution can affect a 

consumer’s demand.       [13] 
MARK SCHEME 

(a) Definition of a normal good, explanation of total utility and links to total consumption. Derivation of 
falling marginal utility as consumption increases linked through equi-marginal consumption and 
price change of a product to the demand curve. 

L4 (9–12 marks): For clear explanations of the three terms and reference to the demand for a good. 
Establishment of the equi-marginal rule MUx/Px = MUy/Py. The effect of a change in price of a 
good on the ratio and the need to adjust the quantity demanded and hence MU in order to return 
to equilibrium must be explicitly stated. 

L3 (7–8 marks): For clear explanations of two of the terms and reference to the demand for a good. 
Establishment of the equi-marginal rule MUx/Px = MUy/Py. 

L2 (5–6 marks): For a clear explanation of 2 of the terms and an attempt to link it to the demand 
curve. 

L1 (1–4 marks): For an answer which has some basic correct facts but includes irrelevancies. Errors 
of theory or omissions of analysis will be substantial. 

Discuss how a government’s policies toward income and wealth distribution can affect a 
consumer’s demand. 

(b) A consideration of the impact of taxation, government transfer payments and/or other government 
policies on income and wealth and hence the budget line and demand. Consideration of the effect 
of taxation on wealth and the consumption effects of changes in wealth. Consideration of the 
difference in the income effect for normal and inferior goods. 

L4 (9–13 marks): For a response that explains two policies and their impact on income and wealth 
linked to consumer demand for normal goods and inferior goods. (No conclusion maximum 11). 

L3 (7–8 marks): For a response which explains two policies and the effect on income or wealth. 
Either normal or inferior goods are considered. 

L2 (5–6 marks): For a response which explains one policy with limited reference to demand. 
L1 (1–4 marks): For an answer which has some basic correct facts but includes irrelevancies. Errors 

of theory or omissions of analysis will be substantial. 
 
Question 3     9708/41/O/N/19/Q3 
(a) Explain what is meant by a consumer’s equilibrium and how it is related to the demand for 

a product.       [12] 
(b) Indifference curve analysis refers to income and substitution effects. Explain what these 

effects are and discuss whether they might be the major influence for a manufacturer 
intending to change the price of a product.        [13] 

MARK SCHEME 
(a) Equilibrium is a relationship between the marginal utility and the price; can be explained using 

either marginal utility or indifference curves – marginal rate of substitution equal to the price ratio. 
Consideration of the assumptions: rationality, sovereignty, the ability to measure utility, the 
relationship between utility and price. Link between price and demand. 

L4 (9–12 marks): For a clear explanation and a sound comment on the relationship between the price 
and the satisfaction obtained, referring to more than one good. Clear comment on the 
assumptions. Link to demand. 

L3 (7–8 marks): For a less developed answer but one that still refers to the equilibrium but probably 
concentrates on only one good. Weaker consideration of the assumptions or omission of link to 
demand. 

L2 (5–6 marks): For a brief attempt which does not clearly bring out the significance of the marginal 
analysis or which does not deal with any of the assumptions. 
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L1 (1–4 marks): For an answer that has some basic correct facts but includes irrelevancies and 
errors of theory. 

(b) Analysis of the difference between income and substitution effects and the overall effect on 
demand of a change in price. Whether demand will increase, and by how much for a price fall 
depends on the classification of the good but also on the price elasticity of demand. The company 
would also need to know if it increased production how that would affect costs – and thus profits. 

L4 (9–13 marks) For a clear explanation of the analysis – income, substitution; a comment on the 
effect on demand; and a comment on the relation to revenue via elasticity. Good reasoned 
structure. 

L3 (7–8 marks): For a less developed analysis of the income and substitution effects, or of the link to 
demand, or a weaker link to the revenue. Two aspects done reasonable well, or three less 
developed. 

L2 (5–6 marks): For an answer that either deals with one aspect well, or two with less clarity. 
L1 (1–4 marks): For an answer that has some basic correct facts but includes irrelevancies and 

errors of theory. 
 
Question 4     9708/42/M/J/19/Q4 
(a) (Analyse how an individual consumer’s demand curve for a product is derived and 

consider how this may be linked to its market demand.        [12] 
(b) Use indifference curve analysis to distinguish between the effect of an increase in income 

on a consumer’s demand for a normal good and an inferior good.       [13] 
MARK SCHEME 

(a) Candidates can use either a marginal utility or an indifference curve approach. Marginal Utility: 
explanation of marginal and total utility, the equi-marginal equilibrium, the change in price of one 
good and the resultant establishment of the new equilibrium and its consequence for demand. 
Indifference Curve: explanation of the shape of an indifference curve and a budget line, the point 
of tangency to establish demand, followed by a change in price and change in quantity, linked to 
an individual’s demand curve. The aggregation of individual’s demand curves to make the market 
demand curve. 

L4 (9–12 marks) For a sound explanation of marginal utility, and the link to equi-marginal equilibrium. 
The effect of a change in price on demand for a good linked to an individual demand curve and 
hence the aggregation of individual demand to construct a market demand curve. 

Or 
(b) For an accurate analysis of an indifference curve map and budget line tangency. Change in price 

shifting budget line and impact on individual demand curve and hence the aggregation of 
individual demand to construct a market demand curve. 

L3 (7–8 marks) For a sound explanation of marginal utility, and the link to equimarginal equilibrium. 
The effect of a change in price on individual demand. 

Or  For an accurate analysis of an indifference curve map and budget line tangency. 
 Change in price shifting budget line and impact on individual demand curve. 
L2 (5–6 marks) For a limited explanation of equilibrium. 
Or 
For an explanation of an indifference curve map and budget line tangency. 
L1 (1–4 marks) For an answer which has some basic correct facts but includes irrelevancies. Errors 

of theory or omissions of analysis will be substantial. 
Use indifference curve analysis to distinguish between the effect of an increase in income on a 

consumer’s demand for a normal good and an inferior good. 
Analysis to show the effect of an outward shift in the budget line on the demand for a normal (positive) 

good and inferior (negative) good. 
L4 (9–13 marks) For a thorough analysis of the effect of an increase in income on both normal and 

inferior goods. 
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L3 (7–8 marks) For a thorough analysis of the effect of an increase in income on either a normal or 
an inferior good. (This may be shown indirectly through a change in real income following a price 
fall.) 

L2 (5–6 marks) For an explanation of a normal good and an inferior good with some link to 
indifference curves. 

L1 (1–4 marks) For an answer which has some basic correct facts but includes irrelevancies. Errors 
of theory or omissions of analysis will be substantial. 

 

Question 5     9708/42/F/M/19/Q3 
(a) Explain why indifference curves are usually drawn convex to the origin, are downward sloping and 

do not cross each other.        [12] 
(b) Consider, for an inferior good, the relationship between indifference curves, budget lines, price 

changes and demand curves.        [13] 
MARK SCHEME 

(a) Explanation of diminishing marginal utility, and how more of a good is preferred to less of a good 
so the curves cannot cross; they have an ‘indifferent’ response along them representing a 
constant level of utility. 

L4 (9–12 marks): for a clear analysis of ICs and all three parts of the question. 
L3 (7–8 marks): for a less competent explanation of at least two of the parts of the question or a 

weaker explanation of all three parts. 
L2 (5–6 marks): for a competent explanation of one part or a weak explanation of two elements of the 

question. 
L1 (1–4 marks): for an answer that has some basic correct facts but includes irrelevancies and errors 

of theory. 
(b) Theory states that consumers maximise satisfaction and determine demand by relating utility to 

price; this is shown by indifference curves and budget lines. Income changes shift budget lines 
parallel, price change of one good cause budget line to pivot. Equilibrium is changed – the extent 
and direction depending on the type of good. Explanation of income and substitution effects for an 
inferior good. 

L4 (9–13 marks): for a clear explanation of the links and correct analysis of income and substitution 
effects of price change. 

L3 (7–8 marks): for a briefer explanation; no clear link to the demand curve, or link to demand but 
some confusion over income and substitution. 

L2 (5–6 marks): for a poor explanation of the terms or a weak comment on the links. 
L1 (1–4 marks): for an answer that has some basic correct facts but includes irrelevancies and errors 

of theory. 
 

2018 
 

Question 1     9708/43/O/N/18/Q2 
A city bus company proposes to reduce passenger fares. 
Explain whether consumers always buy more of a good at a lower price than a higher price. 
Consider what might be the effect on demand for bus journeys and the revenue of the bus 
company of the lower fares.        [25] 

MARK SCHEME 
Explanation of change in demand caused by lower price; mention of income and substitution effects 

and the difference between normal, inferior and Giffen goods. Revenue change will depend partly 
on the type of good and partly on the price elasticity of demand. Revenue will increase with a 
normal good with elastic demand. Bus journeys used to be classified as inferior goods but 
candidates could debate whether that is still the case. Increasingly, they are preferred to travel by 
car because of congestion and parking charges. 
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L4 (18–25 marks): for a clear explanation of different types of good, of income and substitution effect 
and of the possible changes on revenue depending on the price elasticity of demand, and a 
comment on the likely elasticity of bus travel. 

L3 (14–17 marks): for a more limited explanation of different types of good, with weaker distinctions 
between income and substitution effects. A comment should be provided on elasticity but the 
particular link to bus travel will probably be omitted. 

L2 (10–13 marks): for a brief explanation but with no distinction between income and substitution 
effect, no link to bus travel in particular and a general comment on price elasticity of demand. 

L1 (1–9 marks): for an answer that has some basic correct facts but includes irrelevancies and errors 
of theory. 

 
Question 2     9708/41/O/N/18/Q3 
(a) Explain what is meant by consumer equilibrium and consider whether the assumptions 

underlying consumer equilibrium are realistic.        [12] 
(b) Analyse the differences between a normal good, an inferior good and a Giffen good. 

Discuss whether knowledge of these differences is all that is required by a company 
considering changing the price of its product.        [13] 

MARK SCHEME 
(a) Equilibrium is a relation between the marginal utility and the price. Can be explained using either 

marginal utility or indifference curves – marginal rate of substitution equal to the price ratio. 
Consideration of the assumptions rationality, sovereignty, the ability to measure utility, the relation 
between utility and price. 

L4 (9–12 marks): for a clear explanation and a sound comment on the relation between the price and 
the satisfaction obtained, referring to more than one good. Clear comment on the assumptions. 

L3 (7–8 marks): for a less developed answer but which still refers to the equilibrium but probably 
concentrates on only one good. Weaker consideration of the assumptions. 

L2 (5–6 marks): for a brief attempt which does not clearly bring out the significance of the marginal 
analysis or which does not deal with any of the assumptions. 

L1 (1–4 marks): for an answer that has some basic correct facts but includes irrelevancies and errors 
of theory. 

(b) Analysis of the difference between income and substitution effects and the overall effect on 
demand of a change in price. Whether demand will increase, and by how much for a price fall 
depends on the classification of the good but also on the price elasticity of demand. The company 
would also need to know if it increased production how that would affect costs – and thus profits. 

L4 (9–13 marks): there are three aspects to the question: a clear explanation of the analysis – 
income, substitution; a comment on the effect on demand and a comment on the relation to 
revenue via elasticity. Good reasoned structure. 

L3 (7–8 marks): for a less developed analysis of the income substitution effects, or of the link to 
demand, or a weaker link to the revenue. Two aspects done reasonable well, or three less 
developed. 

L2 (5–6 marks): for an answer that either deals with one aspect well, or two with less clarity. 
L1 (1–4 marks): for an answer that has some basic correct facts but includes irrelevancies and errors 

of theory. 
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Question 3     9708/43/M/J/18/Q2a 
Explain why the concept of the margin is significant in the economic theory of consumer 
behaviour.      [12] 

MARK SCHEME 
Margin is significant in relating the utility/satisfaction to the price in determining equilibrium quantity 

bought. Candidates can use either marginal utility theory or marginal changes on indifference 
curves related to budget lines. 

L4 (9–12): for a clear explanation and a sound comment on the relation between the price and the 
satisfaction obtained, referring to more than one good 

L3 (7–8): for a less developed answer but which still refers to the equilibrium but probably 
concentrates on only one good 

L2 (5–6): for a brief attempt which does not clearly bring out the significance of the marginal analysis 
L1 (1–4): for an answer that has some basic correct facts but includes irrelevancies and errors of 

theory 
 
Question 4     9708/42/M/J/18/Q2 
(a) Explain, with the aid of a diagram, diminishing marginal utility and its link to indifference 

curves.       [12] 
(b) Discuss, using indifference curve analysis, how the impact of an increase in indirect 

taxation on the quantity demanded of a good depends on whether it is a normal or inferior 
good.             [13] 

MARK SCHEME 
(a) The marginal rate of substitution between two goods is the ‘linking’ concept. Explanation of utility 

theory and indifference curves. Because of diminishing marginal utility, the MRS is not constant 
and this explains the shape of the indifference curve. 

L4 (9–12 marks) For a reasoned and clear explanation of the concepts together with diagrams to 
illustrate them. Explicit reference to the linkage required. 

L3 (7–8 marks) For a competent comment but with a limited elaboration of the two concepts, or a 
reasoned and clear explanation of one concept and limited mention of the other. 

L2 (5–6 marks) For a superficial explanation concentrating on general concepts with only limited 
relevant reference to the question. 

L1 (1–4 marks) For an answer which has a few basic correct facts but includes irrelevancies. Errors 
of theory or omissions of analysis will be substantial. 

(b) Indirect tax increases the relative price of a good and there will be both income and substitution 
effects. These must be shown using indifference curves. Discussion of relative size of income and 
substitution effects for normal and inferior goods. 

L4 (9–13 marks) For a thorough explanation of the impact of the indirect tax on both types of good 
together with relevant diagrams. A discussion on the substitution and income effects of the tax 
increase. Maximum 11 if no conclusion. 

L3 (7–8 marks) For a competent explanation which does not fully analyse both types of goods. Full 
analysis of one type and limited analysis of the other. 

L2 (5–6 marks) For an accurate though undeveloped comment concentrating on only one type of 
good. 

L1 (1–4 marks) For an answer which shows some knowledge but does not indicate that the question 
has been fully grasped. The answer will have some correct facts but include irrelevancies. Errors 
of theory or omissions of analysis will be substantial. 
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Question 5     9708/42/F/M/18/Q2 
The UK Government has established a behavioural insight team known as the ‘nudge unit,’ 
which attempts to change consumer behaviour by persuasion. 
Explain how indifference curve theory predicts a consumer will react to changes in income 
and changes in the price of a product in order to maximise satisfaction. Consider whether the 
use of ‘nudge’ theory (persuasion) conflicts with this theory of maximising satisfaction.    [25] 

MARK SCHEME 
Theory states that consumers maximise satisfaction by relating utility to price; this is shown by 

indifference curves and budget lines. Income changes shift budget lines parallel; price change of 
one good causes a budget line to pivot. Equilibrium is changed – the extent and direction 
depending on the type of good. Nudge theory seeks to persuade. It could be represented by a 
change in perceptions or taste shown by the shape of the indifference curve. It does not invalidate 
the notion of equilibrium and maximising satisfaction according to the new shape of the curve. 

L4 (18–25) for a clear analysis of ICs and an explanation of income and price changes, a link between 
nudge theory and with a concluding paragraph. 

L3 (14–17) for a clear analysis of either price or income changes or a weaker analysis of both but still 
with an attempt to consider the link to nudge theory, although not so conclusively. 

L2 (10–13) for a less developed analysis of the IC theory and a poor attempt at discussing the 
persuasive effect of nudge theory on the shape of the curve. 

L1 (1–9) for an answer that has some basic correct facts but includes irrelevancies and errors of 
theory  

 

2017 
 

Question 1     9708/43/O/N/17/Q2 
(a) Explain why an identical price fall would result in a different demand curve for a normal 

good from that for an inferior good. Use indifference curve analysis to support your 
answer.   [12] 

(b) The only criticism of demand theory is that the consumer is not rational.’ Consider whether 
you agree with this statement.        [13] 

MARK SCHEME 
(a) Explanation of indifference curves, description of normal good, (positive substitution, positive 

income) inferior, (negative income does not outweigh positive substitution for price fall) Link to 
demand curve, showing possible different slope of curve and different price elasticity. 

L4 for a reasoned answer with a conclusion illustrating all the points, shape of curve, equilibrium, 
construction of demand, change in price, change in demand,    9–12 

L3 for a competent answer that deals with part of the analysis, probably only briefly linking equilibrium 
to demand curve  7–8 

L2 for a less developed answer probably the demand curve link, or mention of elasticity      5–6 
L1 For an answer that has some basic correct facts but includes irrelevancies and errors of theory 1–4 
(b) Discussion of consumer theory; is it likely that consumers behave irrationally, is it possible to 

construct indifference curves, calculate marginal utility, elasticity, price equilibrium. 
L4 for a sound discussion and comment with good illustrations and a clear understanding of the 

principles involved. 10 max no conclusion.  9–13 
L3 for a competent but less developed discussion idea of rationality or a more limited debate about 

the realism of the demands of the theory.  7–8 
L2 for a correct but undeveloped explanation with some attempt at analysis but only brief discussion 

with no conclusion.     5–6 
L1 For an answer that has some basic correct facts but includes irrelevancies and errors of theory 1–4 
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Question 2      9708/42/O/N/17/Q3 
(a) Analyse how indifference curve theory explains why a consumer will normally buy more of 

a good at a lower price than at a higher price.       [12] 
(b) Discuss why there might be exceptions to this normal response, distinguishing the income 

effect from the substitution effect. Consider the relevance of these exceptions to firms and 
the government.       [13] 

MARK SCHEME 
(a) Explanation of indifference curves, equilibrium point, b) link between indifference curves 

and demand curve c) discussion of how reduced price can affect equilibrium/demand for a 
normal product, shift of budget line. 

L4 for a reasoned answer with a conclusion illustrating all the points, shape of curve, equilibrium, 
construction of demand curve, change in price, change in demand,    9–12 

L3 for a competent answer that deals with part of the analysis, probably only briefly linking equilibrium 
to demand.      7–8 

L2 for a less developed answer referring to indifference curves and budget lines.      5–6 
L1 For an answer that has some basic correct facts but includes irrelevancies and errors of theory 1–4 
(b) Discussion of inferior, (negative income does not outweigh positive substitution for price 

fall) GIffen goods, (negative income outweighs positive substitution for price fall). Effect 
on likely revenue to the firm, on tax revenues to government, relevance of price, income 
elasticity. 

L4 for a sound explanation and discussion with good illustrations and a clear understanding of the 
principles involved with accurate links and a reasoned evaluation referring to firms and 
government..     9–13 

L3 for a competent explanation of the terms with accurate but limited discussion with some analysis of 
the links.  7–8 

L2 for a correct but undeveloped explanation with some attempt at analysis but only brief discussion. 
5–6 

L1 For an answer that has some basic correct facts but includes irrelevancies and errors of theory 1–4 
 
Question 3     9708/41/O/N/17/Q3 
Use indifference curves to distinguish between the income and substitution effects of a price 

change. Discuss whether the distinction might be important for a manufacturer.        [25] 
MARK SCHEME 

Explanation of indifference curves, income, substitution of a price change. These can then be related 
to a demand curve to show the effect on demand of a price change and determine the possible 
change in revenue, and maybe profits, depending on the type of good. 

L4 for a reasoned and clear discussion, logically presented dealing with income, substitution, link to 
the demand curve, and clear link to importance for manufacturers. Maximum 21 with no 
conclusion.    18–25 

L3 for a fair but undeveloped discussion probably concentrating on income, substitution effects 
without a clear link to demand, or without a clear analysis of the possible effect on manufacturer’s 
revenue through elasticity.   14–17 

L2 for a briefer comment on income/substitution, no link to demand, no pertinent comment on 
revenue/elasticity or normal/inferior goods  10–13 

L1 for an answer that shows some knowledge but does not indicate that the question has been fully 
grasped or where the answer is mostly irrelevant.  1–9 
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Question 4     9708/43/M/J/17/Q3 
(a) Explain how utility theory can be used to determine the downward slope of a demand 

curve.    [12] 
(b) Discuss, using indifference curve analysis, why a decrease in a sales tax on all goods and 

services might have a different impact on demand for a normal good than for an inferior 
good. [13] 

MARK SCHEME 
(a) Explanation of utility, assumption of given tastes, income, relation to price, equilibrium point and 

quantity purchased, result of changes in price to construct demand curve. 
Level 4 (9–12 marks): for a reasoned and clear explanation, logically presented dealing with each 

point and an accurate explanation of the derivation of the curve. 
Level 3 (7–8 marks): for a fair but undeveloped explanation probably concentrating on the equilibrium 

condition but not fully explaining the shape of the whole curve. 
Level 2 (5–6 marks): for a briefer explanation, probably not fully explaining the equilibrium and with a 

link to only one point on the curve. 
Level 1 (1–4 marks): for an answer that has some basic correct facts but includes irrelevancies and 

errors of theory. 
(b) Decrease in sales tax lowers price, shifts budget line. As the tax applies to all goods the budget 

line will shift outwards, not necessarily parallel. Reward a discussion of a reduction in tax/price on 
one good. 

Level 4 (9–13 marks): for a reasoned and clear discussion, logically presented dealing fully with 
effect on demand for inferior and normal good. An inferior good that is also a Giffen good will 
result in a fall in demand. Clear conclusion. 

Level 3 (7–8 marks): for a fair but undeveloped discussion with probably some confusion over inferior 
good. Inferior good may result in a fall in demand if it is a Giffen good, but not otherwise. 

Level 2 (5–6 marks): for a briefer discussion with some inaccuracies. 
Level 1 (1–4 marks): for an answer that has some basic correct facts but includes irrelevancies and 

errors of theory. 
 
Question 5     9708/42/M/J/17/Q2 
Choice is an essential part of economics. Sometimes consumers change their choices either 

when shops have special offers on previously very expensive luxury products, or when 
advertising persuades them to change their preferences. 

Analyse how the economic theory of indifference curves can be used to construct a 
consumer’s demand curve. Discuss whether this theory can explain the above changes in 
choice.        [25] 

MARK SCHEME 
(i) Explanation of indifference curves, equilibrium point, (ii) link between indifference curves and 

demand curve, (iii) discussion of how reduced price can affect equilibrium/demand for a luxury 
product, shift of budget line, income substitution effects, (iv) advertising, change in tastes would 
change the shape of the indifference curve. 

Level 4 (18–25 marks): for an answer illustrating all the 4 elements of the question, equilibrium, 
construction of a demand curve, change in demand, and change in shape of indifference curve 
and a conclusion. No conclusion max. 22, 18–19 marks if 3 elements well done with a conclusion. 

Level 3 (14–17 marks): for a less developed answer that deals with 3 points. 
Level 2 (10–13 marks): for a limited answer that deals with only 2 points. 
Level 1 (1–9 marks): for an answer that shows some knowledge but does not indicate that the 

question has been fully grasped or where the answer is mostly irrelevant. 
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Question 6     9708/41/M/J/17/Q2 
(a) Compare the derivation of a demand curve for a product using the marginal utility theory 

with the derivation using indifference curve theory.       [12] 
(b) Discuss whether the existence of (i) inferior goods and (ii) advertising invalidates 

theunderlying assumptions of those theories of demand.     [13] 
MARK SCHEME 

(a) Indifference curve theory shows the quantities of two goods bought as price changes; it requires a 
separate diagram for each good to show the quantity bought at each price. Utility theory 
compares the total and marginal utility to the price, the quantity bought can be shown on the 
same diagram. 

Level 4 (9–12 marks): for a sound explanation of both budget lines and indifference curves and a 
clear link to the separate demand curve, sound explanation of link between utility, price and 
demand, with accurate clear diagrams and a clear understanding of the principles involved. 

Level 3 (7–8 marks): for an accurate reference to the question but with a more limited explanation, 
perhaps omitting a clear explanation of utility or a clear link to the demand curve, or with minor 
errors in the analysis or in the diagrams. 

Level 2 (5–6 marks): for a briefer explanation of the equilibrium position but with no link to the 
demand curve; or with inaccurate diagrams and weak explanation. 

Level 1 (1–4 marks): for an answer that has some basic correct facts but includes irrelevancies and 
errors of theory. 

(b) Inferior goods would result in a different outcome when prices change from the outcome of a 
normal good, but they do not invalidate the underlying assumptions of the theory. Indifference 
curve theory can show more precisely why the difference occurs using income and substitution 
effects. Advertising does not necessarily invalidate the theory but it could be that persuasive 
advertising results in more being purchased at a higher price – this could still be explained using 
the theory as either utility is perceived as changing, or can be shown using the indifference curve 
diagrams. The assumptions have not changed. 

Level 4 (9–13 marks): for a reasoned and clear discussion, logically presented dealing with income, 
substitution, inferior and advertising. 

Level 3 (7–8 marks): for a fair but undeveloped discussion probably concentrating on income, 
substitution of inferior goods or persuasive advertising, but still with a conclusion. 

Level 2 (5–6 marks): for a briefer discussion of both inferior and advertising.  
Level 1 (1–4 marks): for an answer that has some basic correct facts but includes irrelevancies and 

errors of theory. 
 
 

Question 1     9708/42/0F/M /17/Q3 
(a) Explain what is meant in economic theory by consumer equilibrium.       [12] 
(b) Discuss the conditions that would cause the demand for a good to (i) increase and (ii) fall 

as a result of a fall in the price of the good. Use indifference curve analysis to support your 
answer.  [13] 

MARK SCHEME 
(a) Explanation of utility, assumption of given tastes, income, condition of equilibrium for one product, 

and for a number of products with different prices. Alternatively the equilibrium can be explained 
with indifference curves. 

L4  For a clear explanation, logically presented dealing with each point.   9–12 
L3  For a fair but undeveloped explanation either dealing with a single product or dealing with a 

number of products but not explaining the equation properly. With indifference curves the reasons 
for the slopes of the curves will probably not be given.       7–8 

L2  For a briefer explanation, probably not fully explaining the equilibrium in relation to price, or not 
explaining more than one product. Or with indifference curves just baldly mentioning the tangent 
without an explanation.       5–6 
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L1  For an answer that has some basic correct facts but includes irrelevancies and errors of theory  
1–4 

(b) Giffen goods would result in a different outcome when prices change from the outcome of a 
normal good. Indifference theory can show more precisely why the difference occurs using 
income and substitution effects. Normal good, substitution increases demand, income increases 
demand, overall increase. Giffen good, substitution increases, income decreases to a greater 
extent, overall decrease in demand. 

L4  For a reasoned and clear discussion, logically presented dealing with income, substitution, 
normal, Giffen.    9–13 

L3  For a fair but undeveloped discussion probably with correct normal good but errors on Giffen 
good.  7–8 

L2  For a briefer discussion with minor errors either in income/substitution or in Giffen good.       5–6 
L1  For an answer that has some basic correct facts but includes irrelevancies and errors of theory.      

1–4 
 
Question 2      9708/42/O/N/16/Q3 
The use of indifference curves to establish a consumer’s equilibrium is purely a theoretical 

tool. They show the relation between two goods; they do not show prices or income and, 
therefore, cannot be used to determine a demand curve. 

How far do you agree with this statement?            [25] 
MARK SCHEME 

Explanation of the characteristics of both markets in terms of price determination, profit 
levels, branding, size, barriers to entry.       [12] 

L4  For a sound explanation of the analysis and a clear understanding mentioning at least four 
comparisons.    [9–12] 

L3  For a competent comment but with limited development of the analysis or a fuller analysis of three 
comparisons.      [7–8] 

L2  For a brief explanation of the characteristics and a weak comment or a fuller explanation of only 
two comparisons.      [5–6] 

L1  For an answer which has some basic correct facts but includes irrelevancies. Errors of theory or 
omissions of analysis will be substantial.      [1–4] 

 
Question 3     9708/42/O/N/16/Q3 
(a) A number of consumers are deciding whether to buy a product. How far does economic 

theory explain the determination of the market demand curve for that product?       [12] 
(b) Discuss whether that theory is still valid if the producer decides to advertise the product, 

and consider the effects of the advertising on the demand curve for the product.         [13] 
MARK SCHEME 

(a) Explanation of DMU and its link to equilibrium price and through changes in price to the 
demand curve for the individual. Accept Indifference Curve analysis. Market demand is 
derived from summation of individual demand curves.       [12] 

L4  For a sound explanation of the analysis and a clear understanding of the link to individual and 
then market demand. Need to provide some evaluative comment for L4. 

[9–12] (max10 no ref to Market Demand) 
L3  For a competent comment but with limited development of the analysis, maybe with weak link to 

the market demand, or weak link between utility and demand.      [7–8] 
L2  For a brief explanation of utility but no link between DMU, changes in price and hence the 

demand curve.      [5–6] 
L1  For an answer which has some basic correct facts but includes irrelevancies. Errors of theory or 

omissions of analysis will be substantial.      [1–4] 
(b) Advertising would alter the demand curve in two possible ways. It could cause an increase 

in the quantity demanded, represented by a shift of the curve outwards to the right. Also, it 
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might make the demand for the product more inelastic. This would change the shape of the 
demand curve. The theory of diminishing utility is still valid.        [13] 

L4  For a sound discussion with good explanation of the analysis and a clear understanding of how 
advertising can both change the shape of the demand curve and also the shift of the demand 
curve, with a conclusion. [9–13] (max 11 no conclusion) 

L3  For a competent comment but with limited development of the analysis of both or deals with only 
one.      [7–8] 

L2  For a brief explanation and with a weak explanatory link between advertising and the demand 
curve.      [5–6] 

L1  For an answer which has some basic correct facts but includes irrelevancies. Errors of theory or 
omissions of analysis will be substantial.      [1–4] 

 
Question 4     9708/41/O/N/16/Q2 
(a) Explain the meaning of an indifference curve and show to what extent indifference curves 

can be used to determine a consumer’s demand curve for a product.       [12] 
(b) Consider whether indifference curves can be used to analyse the effects of a fall in the 

price of a good on the demand for both a normal good and a Giffen good.       [13] 
 

MARK SCHEME 
(a) Explanation of the construction of an indifference curve and determination of equilibrium with 

given income and given prices using budget lines. Derivation of a point on the demand curve from 
the equilibrium point.        [12] 

L4  For a sound explanation of indifference curves and a clear link to the demand curve with accurate 
clear diagrams and a clear understanding of the principles involved     [9–12] 

L3  For an accurate reference to the question but with a more limited explanation, perhaps omitting a 
clear link to the demand curve, or with minor errors in the analysis or in thediagrams      [7–8] 

L2  For a briefer explanation of indifference curves and equilibrium position but with no link to the 
demand curve; or with inaccurate diagrams and weak explanation.      [5–6] 

L1  For an answer which has some basic correct facts but includes irrelevancies and errors of theory  
     [1–4] 

(b) A price fall is reflected in a change in the budget line (pivot from point on axis of good with no 
price change) with a subsequent change in equilibrium. The equilibrium change involves 
substitution and income effects. Substitution effect would be in the opposite direction to the price 
change. The income effect represented by a parallel shift of the budget line is in the same 
direction as the substitution effect for the normal good but in the opposite direction, and greater 
than, the substitution effect for the Giffen good.             [13] 

L4  For a reasoned and clear discussion, logically presented dealing with income, substitution, 
normal, Giffen and linked to demand.    [9–13] 

L3  For a fair but undeveloped discussion probably concentrating on income, substitution without 
mentioning different types of goods with either a brief comment about the individual demand 
curve or no discussion about the demand curve      [7–8] 

L2  For a limited explanation with a lack of development of both income/substitution and 
normal/Giffen goods       [5–6] 

L1  For an answer which has some basic correct facts but includes irrelevancies and errors of theory  
     [1–4] 
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Question 5     9708/43/M/J/16/Q2 
(a) Economists write about indifference analysis when studying consumer choice. Does this 

theory of consumer behaviour mean that a consumer is always indifferent when choosing 
between two products?        [12] 

(b) Discuss whether the use of a demand curve and budget lines are similar in the way they 
represent what will happen if the price of a good falls.        [13] 

 
MARK SCHEME 

(a) Explanation of meaning of indifference with reference to extra utility lost/gained. Principle of 
diminishing marginal utility. Analysis of comparison of one indifference curve with another; and 
also comparison of utility with price.        [12] 

L4 (9–12) For a reasoned analysis dealing with the shape of curve, different curves and link to the 
price L3 (7 –8) For a fair analysis but undeveloped answer but still with a conclusion 

L2 (6–6) For a limited attempt which does not clearly determine the link between two curves of the 
importance of marginal utility 

L1 (1–4) For an answer which has some basic correct facts but includes irrelevancies and errors of 
theory 

(b) Both can be used to derive the change in consumer purchases; however, demand has price and 
quantity of one good bought, budget lines have quantities of two goods–price is not on the axis; 
cannot tell how demand will change with budget line unless also show preference lines and then 
need to link that to another diagram. 

Indifference curves have a greater possibility of showing income and substitution effects and thus are 
more able to distinguish between normal, inferior and Giffen goods.       [13] 

 
L4 (9–13)  For a sound discussion indicating the similarities/differences 
L3 (7 –8)  For an accurate explanation but with a less clear comparison/discussion 
L2 (6–6)  For a general undeveloped discussion with little comparison. 
L1 (1–4) For an answer which has some basic correct facts but includes irrelevancies and errors of 

theory 
 
Question 6     9708/42/M/J/16/Q3 
With the help of diagrams, use indifference analysis to: 
(a) Explain what is meant in economic theory by consumer equilibrium and how it is related to 

a consumer’s demand curve.        [12] 
(b) Discuss how this equilibrium might be affected by a government fiscal policy that raises 

taxes on goods.        [13] 
MARK SCHEME 

Explanation of consumer equilibrium, using indifference curves and budget lines, as point of maximum 
satisfaction with given income and given prices. Derivation of a point on the demand curve from 
the equilibrium point. The rest of the demand curve is only obtained by a change in the 
equilibrium.        [12] 

L4 (9–12) For a sound explanation of both budget lines and indifference curves and a clear link to the 
demand curve with accurate clear diagrams and a clear understanding of the principles involved. 

L3 (7–8) For an accurate reference to the question but with a more limited explanation, includes a link 
to the demand curve, or with minor errors in the analysis or in the diagrams. 

L2 (5–6) For a explanation of the equilibrium position but with no link to the demand curve; or with 
inaccurate diagrams and weak explanation. 

L1 (1–4) For an answer which has some basic correct facts but includes irrelevancies and errors of 
theory. 

Taxes on goods would be likely to raise the price. A price rise of one or more goods is reflected in a 
change in the budget line (pivot from point on axis of good with no price change) with a 
subsequent change in equilibrium. The equilibrium change involves substitution and income 
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effects. Substitution effect would be in the opposite direction to the price change. The income 
effect represented by a parallel shift of the budget line is in the same direction as the substitution 
effect for the normal good but in the opposite direction as the substitution effect for the inferior 
good. Candidates may analyse the effect of tax changes on the price of two goods.        [13] 

L4 (9–13) For a reasoned and clear discussion, logically presented dealing with income, substitution 
effects, normal, inferior goods. 

L3 (7–8) For a fair but undeveloped discussion probably concentrating on income, substitution effects 
without mentioning different types of goods or vv with either a brief comment about the individual 
demand curve or no discussion about the market demand curve. 

L2 (5–6) For a limited discussion with a lack of development of both income/substitution and 
normal/inferior goods. 

L1 (1–4) For an answer which has some basic correct facts but includes irrelevancies and errors of 
theory. 

 

Question 7     9708/41/M/J/16/Q3 
(a) Given the prices of two goods, how does economic theory analyse what is meant by 

‘consumer equilibrium’?       [12] 
(b) Suppose the price of one of the goods falls. Use indifference curve analysis to discuss 

whether consumers would always buy more of the good when its price falls.        [13] 
MARK SCHEME 

(a) Analysis of the meaning of utility and the analysis of the equi-marginal principle which underlies 
an individual demand curve. Equilibrium could be explained either with reference to marginal 
utility/price or by using indifference curves.       [12] 

L4 (9–12) For a reasoned analysis linked to more than one good and clearly structured answer which 
deals with a relation between utility, price and a given demand. 

L3 (7–8) For a fair analysis of utility but an undeveloped answer which deals with more than one good 
but does not link equilibrium to demand. 

L2 (5–6) For a limited attempt which does not clearly determine the equilibrium position for more than 
one good. 

L1 (1–4) For an answer which has some basic correct facts but includes irrelevancies. Errors of theory 
or omissions of analysis will be substantial. 

(b) Discussion of income and substitution effects and resulting demand. Both normal and inferior 
goods lead to consumers buying more of the product but not the same amount extra. Fewer items 
would be bought with a Giffen good.       [13] 

L4 (9–13) For an good discussion of income/substitution effects linked to normal, inferior and Giffen 
goods and clearly structured answer with a conclusion about what happens as prices change. 

L3 (7–8) For a fair discussion but undeveloped answer probably dealing with two of the types of good, 
or not clearly distinguishing income and substitution effects but still with some comment about 
what happens when prices change. 

L2 (5–6) For a limited attempt which does not determine the differences between the types of good or 
does not show the income and substitution effects. 

L1 (1–4) For an answer which has some basic correct facts but includes irrelevancies. Errors of theory 
or omissions of analysis will be substantial. 

 

Question 8     9708/42/M/J/15/Q2a 
Describe how consumer theory suggests a rise in income will cause a consumer’s demand to 

change for a normal good and for an inferior good.        [12] 
MARK SCHEME 

A rise in income will cause an increase in demand for a normal good; the extent of the increase will 
depend on the income elasticity and will vary between a necessary good and a luxury good. Rise 
in income will not cause a rise in demand for an inferior good but a switch away from the good. 

L4 (9–12) For a sound description of the analysis and a clear understanding of the principles involved. 
L3 (7–8) For a competent comment but with limited elaboration, probably of elasticity, and description 

of how equilibrium is achieved. 
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